H & 0l & A& & Al

=N MR

HH: YRS P (LEURD)
chel: ol | (crel:me)
SA - B S (BH) - MM - BES 0l aro G RS2
A EHO12 Tt 283,319 40,262 243,057
HYSHHH(MELRTD) 192,067 0 192,067
olE 2 gl 168,323 0 168,323
(8z)e2d] 168,323 0 168,323
101 2l 24d| 168,323 0 168,323
03 RIAHAYZ22NE = 168,323 0 168,323
eH=(0I2) 90,560
o124 xt 24,590,000¥ * 194 24,590
onaxt 23,940,000 « 14 23,940
Oréxt 21,340,000 = 1 21,340
O6E Xt 20,690,000% * 1H 20,690
o=g 42,555
OPI === 3,360
-t Xt 40,0003 * 4% » 123 1,920
-&Edl=5 20,000& = 69 = 12& 1,440
otz =g 100,000 = 1 * 12& 1,200
o2&+ 9,056
-1248 Xt 24,590,000+ 10%/12 = 1& * 12& 2,459
=Py 23,940,000%10%/12 = 1% * 12& 2,394
SA=PN; 21,340,000%10%/12 » 15 = 122 2,134
-6 Xt 20,690,000%10%/12 » 1% * 12& 2,069
OcmzEsY
8,950 * 20AI12F » 494 « 122 8,592
OBYUNRAND24Y
8,950% * BAIZt » 28 « 117 16,755
oot zt4g
29,790,000% /3652 * 112 » 4H 3,592
OXHE XIS 1,736
OLnSsr 433,780 * 1Y * 43| 1,736
OYEFIHI 9,056
O12@xt
24,590,000 /12& * 60% * 18 » 23 2,459
Ot
23,940,000 /128 * 60% » 1 = 23l 2,394
O7E Xt
21,340,000 /128 * 60% = 19& = 23| 2,134
O8E Xt
20,690,000 /12& * 60% * 1¥ = 23 2,069
(©IME=3s]| 120,000% = 4% 123 5,760
o= &l 120,0008 = 49 « 128 5,760
O©JFA X bl 175,0008 » 49 « 128 8,400
oIl =t| 1,092
= 90,000& *» 4H 360
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SN MEOIAD
HH: HYSHAY (B
ool o2 gyl (o9 @e)
o - SiE
R4 FH . SR(E) - HRAY - LS of & S HIDE2
OFS§=E) 10,0008 = 4% 40
Ot &t 60,0008 * 4% 240
O&st 13,0008 = 4 52
ogs=s 100,000& » 49 400
O3Fa 22 A S 1,404
OdeaAKX 6,0008 = 28 « 117 1,404
O &t XI=ZHl 500,000& * 49& 2,000
JlE2g 23,744 0 23,744
(=F)J1=224l 23,744 0 23,744
201 ¢er=2gdl 9,334 0 9,334
01 AFF 22l g 9,334 0 9,334
oJl2ge-dE sl 6,742,000& 6,742
OJIEAHI(SEHI)
6,0008 = 6& » 80& » 90% 2,592
202 04H| 6,480 0 6,480
01 =W ol 6,480 0 6,480
©J1&&l(0ddl)
20,0008 = 6% = 90& » 60% 6,480
203 YR=24| 3,000 0 3,000
04 EXM2EYRFAL 3,000 0 3,000
Q@JlEA 250,000& » 12& 3,000
405 THakE S| 4,930 0 4,930
01 &t ESF S 4,930 0 4,930
OO0IZIHHIL (BIZEE2M) 180,000& » 1JH 180
O& A= AR 4,500,000 * 104 4,500
od STl 50,0002 = 5CH 250
Al HES QIAXE HZ22 dE 29 91,252 40,262 50,990
btizE 29 91,252 40,262 50,990
(BEF)H22 82 19,252 40,262 A21,010
201 LEr24El 16,372 14,459 1,913
01 At 22l bl 16,372 6,880 9,492
OMBUIRADEZX ST S| 972
ozeeHe
68,0003 » 38 » 5& 128 * 90% 972
outz24H 22 15,400
OBZ4 25024 = 10,0000H 2,500
OAEIA 1002 = 10,0000H 1,000
O=s=2sd M= 4502 = 10,0004 4,500
Og+=A(FEHS) 80,000& = 304 2,400
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SN MEORAD
Hm: As FES AKX U2 ME 29

He: HIZZ2 29 (cte) @9
SH-EHH. o9 (8) - HEAY - BES O &k o8 S HlmE2
SrEEEREIENCIEE
5,000& = 1,000& 5,000
202 dl 2,880 5,600 A2,720
01 2LHOTH| 2,880 5,600 £2,720
oMEIA X2l
20,0003 * 3y x 52 * 123 » 80% 2,880
(BZF)Me)ise o1 HMel 72,000 0 72,000
201 B2 Y| 21,131 0 21,131
01 At 22|l 3,452 0 3,452
OMEI SH CIfXel A2 2,768
oy 8 2+ 24,0008 * 108 = 34 720
O#lA 17,000& = 1504 255
Octiot2 5,500& * 354 193
O&z s 228 20,000& * 8& * 1004 1,600
OHJIIS(0tA2 & E32IE)He
19,000& = 36E 684
02 22224l 17,679 0 17,679
OMEDAHME Xt 2l 13,241
OXtS XHAl 28,500& = 20K 57
OXNsSIHEEZ 700,000& = 2CH 1,400
ONSkHEANERES
50,000& = 2CH = 13| 100
Oxg FRFU(FEIE)
1,7633 * 100L = 128 = 204 4,232
OXt& & el 2,976,000& * 204 5,952
Oxtg =M 750,000& = 2CH 1,500
OJIAHER 183 FHl H=4] 1,969& = 400 4 788
OMEIJAHZ AMEEHYISX LI 3,650
OJIA =GR X H (65) 300,000 * 6 1,800
OXMEIANE L2&F  1,850,0008 * 14 1,850
206 M= 4l 24,100 0 24,100
01 Mzl 24,100 0 24,100
O2=SXM 24,100
OZEotAZ 12,000& * 2,000% 24,000
OO0t 500& * 200% 100
405 KH&HH S| 26,769 0 26,769
01 AMLEEHSHI 26,769 0 26,769
©1JtLR BHD| 169,400 = 2CH 339
OHZOIEUOHA(IISEAIRA)
780,000 = 1CH 780
OXE2 =& 20,000,000& = 1CH 20,000
OZAH(IISEAIRA) 200,000 * 494 800
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SN OIS
Hm: Alx NEE AN HES HEH 29
o9l BEE 29
SAH-FE - G2(3) - NIFMNEY - BES Ol &k 28 aﬁgg
oulgoE =g 50,0008 * 20k 1,000
OMEIZ ozt 2I| 7Y
350,000%! * 3CH 1,050
@IISE ARA 2B 2,300
) I=pl 600,000 * 1CH 600
OWzD 500,0002 * 1CH 500
oTv 1,200,002 * 1CH 1,200
OCIXI 302t 500,0002 * 1CH 500
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